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INSTRUMENT PROCESSING SHEET

SN _HD ooy

Alcohol Testing Program
Dateln | ©

141t

Date Out m}"\h{f’

s

Oship WP/U WQH/D Qcwmr QEE

El Opt:cal Bench Calibration N/A
F] Optical Bench Calibration Complete
tric Pressure Gauge o} -

D# 2F32.

‘Intake = Performied _Byi;l?.-’-l't}*). {Quality Checks'  Performed By 7. | Flow Calibration  PerformegiBy
i Registration J&- Breath Tube Screen 'ﬁ) Flow Calibration N/A * ?&

,‘a Annual % Replace O-Rings L Flow Calibration Complete @ f VEE‘
W Return from CMi instrument Set Up Verified Flow Column # fa o
0  Return from Enforcement R-value _21% 0 si/min-17mm ﬁg

Electronics Flow Verification (L/s)  15L/min 4 0 20/:5‘
O Other Flow Column # {92 U 30L/min - 1(}3rlnéil’?gsﬁ.Zi
visual Inspection: s2mm_[U€  (139-.169) | Q Rvalie ____ 9p,
o Case Handle 36mm I/ (156-.190) | O Post Calibration Verification {L/s) 9’1‘377
- Dry Gas Holder _Q\L Feet 53mm _2.3% (.228-.278) Flow Column #
Q. Keyboard/Plug  \C- Back/Plugs 103mm _4P0 (447 - 547) 32mm {139 -.169)
&€ Screws fight #o¥- Breath Hose Barometric Pressure Check 36mm {.156 -.190)
e Gauge ID# QEN2T 53mm (.228 - .278)
Other Equipment: ‘Eﬁ Stabitity Checks 103mm {447 - .547)
O Power cord i ;
QO Printer Cable 20\50 74 | ai
O Other o108 RYIER 1 Battery Replacement
o8 oo e\{ 2 o\ . O} Dry Gas Regulator Replacement
\ }%} ¢ || O Breath Tube Replacement
Notes: 0.20 ozl [2eiecll |
] on t( /ﬂﬁf
0.08 DG5S N/A AL [, 1ZHES
r—ﬂq J1€

Ip#_2FK27

( Barometric Pressure

Gaug
Instrument

Mouth Alcoho! Solution Lot # D]l -#

0.000 5% N}"\ \e N/A N/A Acetone Stock Solution Lot #__ Lelu~B
0.040 Sp oz | 1R\ 2lzlig || [
- 0.00 DOt
0.100 bl oot q g 1 % Interferent Sfbiﬁ"z
0.400 Glate 24 ot 3122 [1% 0.08 <D loil
0.080 DGS | N/A Slasvsedd 2)stin || o200 5DICTS
El Post Callbration Stability Checks

Simul erial Numbe imbef. | Expir Attachment i ‘
0.05 shio ¥ 105TTA 7{)“4}/7 JEY Form 41 BF Optical Bench Cal
0.08 $yi01d Zojie o i /%[;g & pre-Stability Tests P Post-Stability Tests
0.20 55 102§ 201 ol* q/')//"%: 3 Flow Calibration O Other
0.08 DGS N/A A L LTS 5/]3] g
Notes:

&\36:?{9

= v ‘ P P
7 ‘m?‘f / 4,{»*(/( (e’

Quality Control Review

Revised November 2012
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